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FGENEML AWARENESS

1. The rate on which banks borrow
from the RBI is called —

{11 SLR (2) GRR

(3} Interest Rate

{4]) Bank Rate {5} Repo Rate

2. As we know the REI is the apex
bank of India, similarly the apex
Banlk of USA is called —

(1} Federal Reserve

{2) The Central Bank of USA

{3 Bank of America

(4} Central National Bank of USA
{5) None of these .

3. Asper the newspaper réports the

Standards & Ppors (S & F) has

~ changed India’s sovereign rating
from ‘Negative' to ‘Stable -This
means —

[A) India’s ecoriomic condition has
improved a lot.

[B] There is no pressure of infla-

" tlen on the economy as it s
well under control.

{C) India's economic condition
. has further gone down as it
has falled to corntrol the flscal
deficit.”

(1) Onlya - (2) Dnl}r B

(3 OnlyC  .[4)OnlyA&B

(5] None of these

4. As reported in various financial -
Cnewspapers the Governrnent of
- India is planning to link the pric-
es of diesel and petrol to market

prices and may also introduce a

graded system of sharing subsi-

dy. Il it is done this will be in
order to implement the recom-
mendation of which of the follow-
ing committees?

(1} Murli Deora Committes .
12) €. Rangarajan Committes
{3} Kirit Parikh Committee )
(4] 8. Sundareshan Committee

- (5 None of these
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|5, Which of the following Schéinies

. of the Government.of India.is
planned to help fariners by pro-.

produce ?

%,

agro prodicts
; graios

(C) Making Ioans avallﬂhle to
‘them on spcmaj ‘and siibsi-
dized rates of mtlerest

! (1) OnlyA (2 OnlyB

i j@onlyc (@) AllA BandC

: (5] None of these

5. Which of the following norms/
practices adopted by the banks
iz fare launched to ensure that the
money {rom illegal activities/

Lo T

u “3VOnly C

l'. viding a competitive p‘l‘H’.‘E‘T.Oﬂ'lCH' .
-lﬁd Minimum support ‘price. af

i (B) Ercating buffer m.ocl-: of fm-d 1

‘sources does/do not come to
ban]wandth:erei‘ure the economic

health of the natien does not get
alfected ?

" |A) Kniow Your Customer
{B) Finaneial inclusion
(O Brarichless Banking

approved the national policy on
B]ro fuels. Which of the follewing
crops is one which is used o
malke bio-fuels ?

(1) Onion [2) Sugarcane i
(3] Wheat  {4) Coconut !
(5] None of these |

A Only B 12, Whichof the following countries |
' E'.; gﬂc ' ﬁ: Oilj;aand B is: the Iargest producer of milkin
5) AllA, Band C ' / f{!i:-’eWId? me N i
7. As a practice all banks now de- K\l&} EhuDe}hna:H\iE\ b ggﬁ :
duct some amount from thelr pre - - teawy: E‘mesefp g
ﬁte ar:m:::? ::t crﬁtcl::::ig: { 13 Which of the faltowing terms is '
{on for the loans which may go //“\\ - mﬁwﬂtfd with the game of
T i 5 Iy h I!‘-]i?gouﬁmr (2] Bully
:é; grﬁjdshnmfl SR /r" ::/ / \:} [@l corner ;
WLER ISHBEETC € m ., S I.SI nalty Corner 4
s b 4 lnd"::m nka \\\ 14. Saina Nehwal is a famous — §
r&wﬂel&m’aw' i ‘“vhr:;r N S L Al Lamlurn“l'enms player i
: - ~ (2) Golf player :
inyouropiion e heee-, G maeTennpltyer |
are willing to open hra.n‘i:“he&m z: :‘;:; gaml&“eia}'“ .;
fareign countries ? R .
(A) India has the larpest ot 15+ Who amongst 4 “‘&"Mﬁﬁi _!
o LH bf&%ijlc$m the 7 ?ﬁa international repute ? |
world,-Hence nations. s : ;
also, 4 RG] takkadvmgge {1} Vikram Seth
of their smﬁc:g. . 2) Sthaugi;' 4 ;
@ i Darks gean ppart o Pt Bert (61 R. Rabman. |
/nlty to raise foreign currency {4) Ritu Beri (5] i
angdlalso the expérience 16. India is providing help to which i

A runr,h cint venttires of mul- | of the following nations in set-

ﬁnahﬁmla Tms prompis
.themito open théir branches

A fln fureigfrnatmhs

) As many foreign banks are

ey ) Eqnmloningln India, India in

1 1um15 also required 1o open
“equal number of branches in
“foreign countries. Hence In-
dian banks are opening
:- branches in these countries.
#1) OnlyA  (2) Only B
[4)Only A& B
~{5) None.of these
8. Which of the following crops need

-plenty of water to grow ?
(1) Jowar - {2)Cotton
(3 Paddy (4} Bajra

(5) All these need plenty of water
10. Which of the following is/are true

about the National Rural Employ-

ment Guaraniee Actl ? ;

(&) The Act is now known as In-
dira Gandhi Mational Rural

- Employment Guaraniee Act.

(Bl The Act is now applicable Lo
all the districts of the coun-
try.

(C) Minlmum wage fxed under
this Act 1s now Rs.250 per day

(1) OnlyA (2)Only B

(3 OniyC [4JAlAB&C

(5] Mone of these

11. Government of India recently

ting up a Medical College there
on the lines of the AIIMS ?
{1 Nepal IE_:II Bhiutan
(3) Bangladesh (4] Myanmar
(5) Mone of these
17. Which of the following is the ab-
breviated name of the company

AL

i e e e et A

which produces chemical fertil- |
. izers in India ?
(1) LASRI {2) BHEL ;
(3] IFFCO (4} FICCT |
. (BIFERA i
18. Which of the ful]u:mdng isNOTa |
foodgrain ? B
(1)Paddy  (2)Jatropha
(3} Bajra- . [4]Jowar
(5) Wheat

19. Aswe know Governmenl'is pay-
ing much attention towards the
development of watersheds and
water bodies in all the areas of
the country, What is/are the rea-
sons owing to which Govt. has
to take these special efforts to
develop/recharge watersheds |
and water ies 7 )

(&) The one single biggest prob-
lem of the agriculture in the |
country is inappropriafe immi- ¢
gation facilities and farmers’ |
overdepenoence on the mon-
soon, Govt. wants farmers to
come out of it.

IB]I The water tahle in some D_f.j
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20,

the arcas in the country i
Ium,gdmrn This s & matier
of great carecern for all of us
an hls may resit In sevene
water problem’ in days 1o
comi, ﬂw:rrm'li‘-ﬂ'thuu"l-liﬂ.-ll
abaut I
101 Arcaxmid 30 1o 35 percent wa-
tersheds fwaker bodiesin ihe
counkry ang Got being utilized
@8 the quallty of the water in
these has detersprpted ower

iheysars
[11 Cinky & {Z] Only B
[@EonC  HANLABEC

(7} Mome ol'these
Which of the inllowing is,fams true

 mbsout dhe Il Awas Yojans 7

21.

A Japan

m P
(3 Japanpith Asard £
i} Asjuma S ",
15 Bharat Rokoa, = f
Which ﬂlmcr:lhm;uaphm
cups uaammn-n!yﬂu =
. of Cricket 7 ﬂ: E_.-

(Al The schermes provides fnan-
cink amsistancos i people lv-
ing below paverty lisne for con:

© sructlon of houstag unas,

{E. Every family gets an assistancs
of Fi=.3 lakhs for construstion
of new herssing unkt and uplo
5. 2 lakhs for upgradation of
akd Jexisting units.

iC) Scheme is available anly Lo

- Ukasewho are staying inany
illge’ ar urbam aness having
a popalatkan of S0000 or

more,
(1} omlvA 2l Only B
13 Only & M alls BE&EC
18 Mane of Deese
Thie head cifice of the World Trade
Organiaation i locaied in -
(1] Mapal [E) India
(4] At ks
5) Mome of these -
Whe amongst the following &/
wan NOT & lamouws wriker of En-
pliah Language ?
1}V, 5. Nalpaw '
|21 Anilta Desal
(3] Harivansh Rai Eﬁl:l'l-!;hn.n
(4} Bliramn Tesad
5} Enetnn Bhagat
Which of the followd g sawards 1s
" given Tor excellence (n the fleld
ol Sparts
1} Bafdas Samman -
[Z) Shanti Swarup Bhatnagar

H] Dmm A H"-\.

(2l AghaRhanCyp',
i34 Hﬂwfmm .
=1 I:J'un:rl:l -

{5 Dibleep '

28, As per the Edueation ﬁ{-ﬁﬂ il

ba Mindtoring-Repart”, ﬂd
by the LING, over-bBall
tal illiterate populition r.i,;m

wirkd les i jusst four eiuptries,
" Which of the MO e
af thess four 7
(11 Chirs 21 unddis
m Eﬂllhml'.ﬂ'ﬂ 1-“ Pkt
{8 Banglpdesh

TR, Which ol Lhe following isare curd

reol aboanl Lhe Rajiv damcid
Cramin LPG Vilrak Yojana **

pir—— "

L Womens men Inthe age gmug:
of 2045 years well e r,r'uh,. i
hdders.

{B Al stnikeholders will earn B
15.000 Lo Rs. 20,000 pep
mand s Lhesr income. .

() LPO will be Supplied i,
= phpeline Tom he noanesg)
deps Lo the NIENE- SLilby
which will be eomimon ki
nunﬂ-allnl-nn of & 1o 5wl en

] ﬁn]]r.ﬁ. |12 Cinly & ,5
[ Only Al B 14 Only A& O35
(5 AAB&EC :
7. Mlﬂﬁ'lwﬂml‘:‘mhh*
willl e roquired L ks all h....:l'-_
(el pn:.-m:rna.in-m ol kv T
leradng cummenciss Y .

1] Rial |E] Crirsar
(4] Taka (4] Frupee
5 Daollar

28, The cansbruction of & dam o
which of the following rivers In

%
Arunachal Pradesh has hecome (_/" ‘“‘H I’-ﬂ' Tma

amnunl.':mmnmmm-:- F

2 Onby ehell susts related (o the
progerty of a5, 00,000 [Fia
lakhes) add above will be dis
posed o in this way,

AL Cmly i I'EH.‘.InI_-.rE

@ Onky © M) Only A& B

| alaB&C )

a2 Which Holhwood aector oo Aprl
28,2014 stepped down from his

ol s UN's Messenger of Feace
amld the reports of his cngage
ment with the human rghits law.

©yer, Al Alamaddin?

11 Tom Crises
2] George Clooney

"\'::;- -!E':Hunﬂl

o |8 Nohe of these

nﬁ emlnent ndian basiness

S it o0 AplAD 2014, redthves

—- the Hiight, Srand Cross [CBE
T aw UK Governmenil?
_,__ll-il'lu h Aanilrand

ple feel that I will damisg: | c{r lﬂjundm J'-qulnm
— mulm:mlrmmﬂnlﬂ' // Neme of thess

Eiabe ?

1} EBmhmaguira rd ‘x .
{2 Teesta. {3) Qandak™, h
|5 Paedina |51 Feane ol [ Mg

M,
28, Aswe al koow m:qnm-mnm .

fndhia had launchgll "Loos

Peldicy™ & lew years afoso hak ™

can have bet batlans mad
trads with s fimea coun:|

. tries, Which vi!r[__lh ng"m.h
I:Inn.: mmm :rl1h= 1'

l 4
11I mﬁ
131' Ch

m- per the f-:p.ll'i.l. i e in
L 'L T, # Lnisn

nigter of Carporal Allies 15
plabhaing-to introduce @ sysLu

“here Towms audit i
e uﬂ"ﬂwﬁn} Winkch

{x o E'rih'!*{l:lh'«'-'lnp: miay 3¢ the @m
e pacl of this dual sedil sFsiom

-, when jmplemented 7
‘H-I i‘h'n'd'll'l bring Lok pare .

1"‘Iwil'!-l:lE|:|E|1l:1E|.‘|li and aljueties
- #f H‘ aﬂc:m:aﬂlthz Tusict e

. Y ng of the companies.
" h'_"’:- st IB'I-'ThI.-i.'n'iII cTeaie @ warning or
. 4/ wiarméng system 5o that Sa-
.. T tyam like episodes can be

. e *averted.
A - () This will give an opportunin
.

o auditors Lo learn more
st the “insids sclbvities™ of

— b companies and also a bet:

Jerunderstanding of the busi-
ness (aclbcs, the companies
adopt Lo beat tieir competi-
s

{11 Cnly &

(@ Only B
(3 Only & 4] &1l A B&T
51 Nome of these

$1. Which af the folicwing is/are true
HHHIIHI: Giram Myayalayas® ¥
(A) Thess courls will b= mobike
courts and will funelon at
Fanchayat level. )
(B] The Magistrates of thess
eonirts will go to the villages
tn their area of coverage and
will dispose off cases aof (he
villages there inelf.

¢ /?"ﬂm on Apedl 5, 2014, weon the
= 1515t edition of the fbb Pemin:

~, f-"'“*lr-dhmumntm

T Raj Studio In Mumbai after de-
_. *Wﬂﬂwmrmnmﬂrw
v Acrigs the country?

N " K21 Ankita Boss
Fd

- Frana

(=] mﬂumn
4 vaishali Avbd
18 Mane of these -

48, Viktar Orban was re-elecied os

Prime Minister of which cowmtn

Tor the secnnd comsecaitive By
wear lerm o Aprl B 20147
11l Hungary (2 Roemanis
A Portiggal 4] Greoce
i Mane of these

34, Who was selected for M 5 Sub

© hiilakmhenAwand 2004 by the B

5 Subibulakshms Feundation o
April 19, 2004F .
i11 Mathang Sathyamurthy
(2 Sai Hunar
(3 R Subramarys Sharms
4] Hilimanocer G Chandrabah
%) Mone of thess .

87, Urdgn Ministry of External Affadry
(dioEa} an April 13, 2014 appoint.
wdl wWleoim s India’s st Ambas-
sadar Lo the separate Indian kis-
slon to Assoclatlon of Scutheasi
fesiaa Mations [ASEAN) & Eaat Asia
Susnmli?

(1} Suresh Kumar Redidy
13 Aadirsssh Kumar

I3 Pratyusah Salaiki

14} Pravesh Dubey

1% Mone of Lhese

38, Scientists from University of Cal:
licrmla, FAiverside. in April 2014,
Anpgunced o have creaind a 30
medel of which husian parasie
genama for the flest Eoe?

{1] Malarig (2] Typhoid
] Dengue (4] Haln Azns
15 Nome ol theae

38, Which U5 software glant on Apedl
25, 014 completed acquisiion
of Mokla's mobile handsei assi-

niess, exclding the Mokia's Chen-



il Faclory due Lo Tax inauss?
(i laiel  © §2 Dell
(% Microsolt 9 15
. [5hMone of these © _ .
&0, The Regerve Bank of Indis i com-
suiltotion with Linten Governsnent,
. an April 1, 2004, capped the
Ways and Meana Advances [AMA)
iipnits for the frst hall of the aew
Gnancial year 2014-15 [Aptil
20 1d-September 2014 a8
(1) VOO crofe TUpees
[H 18000 croge rapees
(3 20000 crore mIpeEE
{41 HO000 crore FUpess
(5} Moabe of these

GENERAL ENGLISH

Directions (4 1-55) : Read the fol-
kewing passags carehully and answer

the fuestions ghenayd o plan adin-
mer where the rch man weuld alse be

trvited, He then parrated his plan 1a-

T : .

Raidas had one. I:rl.l_l."mh:!lh!'
Irierd whease name was Mayadas. So
Tee wenil ug (e him and tokd kim, the
plan: The nest day. Mayadas wenl 1o
the rich man's house and imviled him
for dinger. l-]ean.llﬂhnl hie intended ta
urw.- th puesis En vessels of gold.

puum ok bd Iﬂ o Lale
i'tﬂ' mezal. The rch man was
o hbm this and jumped ol Lhe

offer, Alber thie rich man arrived sl My
adas’ howse, he was aurprised (o 566
o ather guesth dhere Bl Raddas. Ame
heow, they welcomed him 0 and star-
e @ polite comersation. The oich man
had come 0n an empdy sicrmach and
w0 was gettng bumgrier by the mimale

Finafly at midnight the rfch man
oould bear bls bungsr ne longer and
asked Mayadas bo serve Lhe Food, May-

adas sounded extremely surprised

when he asked kim what food was he
talking abaut. The rich man iried 1o
remind him that he had been inyited
for dinner. Al this point Raidas asked
T for procd of the Imdtatlon. The rich
man had no answer, Al the point Rad-
e pesninded the rich man af the same
troatment that be had meied oul lo
hirm. The rich man reallaed his-mis-

lake and begred for forglveneas, He
sald that Raddas wis a good posl and

hiad not asked him foc amy reward. He

Timsell had promised co ghee nim seme
it ard then cheated bim aul of them?
To make wp lor his méstake hotook

ot Uhve meckiace thal he Wan wearing
and gifted it Lo Flaﬂa:l.__
sat dowm toeat a happy mead.

41, Why was the rich businesaman

thrlled on being insiled over b

dinner by Maysdas 2

(11 He was thrlled 12 have din:

e for Frge
2] blo one had wier imwaled hlm
. ower for dinmer since [ RTTY

very miserky )

- (3 Mayades had promissd to
serve in gold dishes which the
Fussis were allowed to lake

i I'hl.'n:}lnewﬂh therm
acias had promised many
delieacies i the dinmer

(8] Mose of these ;
42 Which ol the fallowing fs Lroe in

Then they all

centext of the passage 7
(1) It was Raidas® biother Mu-
ber's plan to teach the rich
bnasd iesarnan & lesson
{2} The rich businessman had 1o
return emply stomash from
oz

T A Mapadas was b irustadihy

ﬁ'imdﬂmﬁrlthhuiiuﬂ:m
A

) Mone §s trug

7B A1), 120 and 3] are true
ﬂ. What did Raidas and Mayadas

o when the rich buainessman

" came ever for dinner 7

[1) They ware Urilisd o have &

+ rich bustnessman ps their
guest and served hem wall

.. [2) They served him In golkd ulen-
sils which b later took with
himsell

"3 They did nod serve him any

: e

Tood untll he leami a besson
on what he had done with
Raddas

thmhhm@tm

9 He said that be had pdsh-
ined

& only-to en-
hém fibt becaase hel

Wi e il him. .,

IC) M sl that msast of the fio-

ﬂtﬂmﬂmbﬂﬂﬂﬂm

I'IF'DE’J;ﬂl mﬁm{amc
mﬂnu.rﬁmdu *
M) Altof thesd-. ™.

{5} Wone of these .,

'4:. Why did geopleflock outsice the
I:n.l.-'lcl.l.mlﬂ"

honise srery-

i3 Al of them wanied to recie

4T,

poem to him as e was lond

¢+ ol poems

g} They would hope lor some
generoslty from the buslness.
mian simce fewas rich

{5 Wame of these

why did the peapée abways re

turn home disappednied from the

rich businessman's houss 7

[ He “L{h domate Jess than
mmmmmﬂum

(2 He made promises (o them
but never h.hH hiks words

m%bﬂ-ﬂi nmwauld oaaly re-
sward l.luﬁ:’whcrhld u'm.lm
peostry on bum .

1} Both (2 and 13) ;

-] Hm':-m!.]MM ;

Hosw did the righ huulnm-ﬂl'l-m‘l

Feact when he:m:l.liz:ﬂ hu.m

vake of nod keeping his proguise

which he had mage ta,Raidas ¥
llrmmmlum
}nhuuuﬂunmmq}
hds rewand » 1
12 Hei:ﬁhduﬂmdu‘hinm’rrm‘m—
diateby without havisys dinmes
12 He Justified that Roddas did
mot dessrve an award simoe
hils poems wers very ardinary
{43 He sadd it Raddas weas bring
and that he had already
awarded him with a neckiace
153 Mane of theas
48, Which of the loliosing is the mor-
ol of the story 7
A THL A house divided against fsell
£ atamd
A bird in hand is worth tea
: mhmtﬁt
1‘.'HI=n'.'rmm proaniss
"{-u Frbn{ kg bs i the eat-

m-,-mr;z back on your pram-

f H,lehcmh businessman
.

pleagtd with Raldas ?
£-(1) Raidas had recited peetms 1o
;" fhmhulhﬂ.ﬂmﬂbﬂm'w

S in returm

o, j [:.'s].'-T|I was alsy as miserh) a8

=

(3] Raldas had nvided him over
far dinner

(4] The businessman lxked his
poetry, especlally ihe one
writien onhim .

m-%mﬂﬂmn:ml o
K ﬂ'rl'bl‘: Hisher 7 ¥l
1|:FM1I.JI.#E = -
2 c:E---:r 1 Meiserti"
14 Tfligrsal (8 Nome, of {hes
Directions ($1-53] : Cl_mgqn_- the
ward which 15 seost sbmElar in mesn.
ing to the word printed in obd o viss]

- in Lhe passage

51. MARRATING ; .
(1] Trdking 18 Perfupming
3] Departed  19) Execuking
[5] Dessribing :
52, MEANS
[1] Expression (2] idea
13 Erention (4 Wiy
5] Purpass
53 INTENDED'
(1] Presumed 2] Wanied
[ Promised
(4] Comdlirmned
(5} Expecied
Diregtions (54-56] | Chaose e
word which is most epposite in mean,
ing to the word printsd in bold as vsed
in the passage, ;
i, TROSTWORTHY
L 11] Worthibess {2} Unialr

3 Unrelabie
] Dserisninating
12 vt

B8, FLEASED ¥
11} Chsappalnied _':
{2 Stupned © {3 Haosle
14} Jealous [B) Penadve |

" Directlons [56-80) ¢ Read sach’
sentence 1o find out whether there (5]



ary Erasmmatical :r::lrm'ml.nmnl_ln_-erf

rorim i The srror, B any. will be =

one part of the sentence. The mumber

ol that part &5 the answer. 17 e s

no erres. [he anawer is ‘5. [Ignors the

ermors of punctuation. il any]. ;

BE. The siumber of siudenis {115
present in the schoal 1adey (210
Jare less becawss of (3 Lﬁr_rl. -
mour af an approaching sl
141 Ho errar [5) i

87. As zoon as the fise alarem (114
wenid off, the (2)/ resideais of 1
baikding (31 vacabed it .J1'|'||1E‘~dld
atedy, (4} Mo eorar (5)

BA. ‘Consldering the amsunt (11 of
stress she s wnder (217 B s ool
surprising theat (315 &he kskg oed-
ting migraines. [4]¢ Hoermor |5

S The condition of the. city (1}/
seems b0 be very. appalling (217
il Al the vehdelen {3 F belch-
Ing oul exhaust fumes. {4)/ No
errar 5]

o0, As i gol fagger (11 B becoms
almost Impoasible (217 o steer
ik boat {3/ along the narmos

& . canal. (4] Mo ereer (5]

" Divections (B1-88] 1 Rearrangs

m.[ﬂnh;dnmw [,

[, [E} ard (F) in the proper seguence

1o form a meanEgul paragraph: then

gnawer the gquestions given below

P‘-w He explained to the king that
thee gimmy bag full of grains
was the real pobd thai the
et eodskd g, wihich he had
growm with lots of hard-work.

oo B King Aditya wasgrowing old

o . and decided 1o hand over kis

kingdom to the moat desery.

& " g of his five sons. .

H;;J-i:rheut-uldlhemtnmﬂ:iu
1|.ud.|.n.dr=h.n-pwl.lhguldu.f-
ter six manths,

ﬂmn;hdmmmlmprcm

.- s eanded over hia idngdom

.. to Faviditya

[E In order to tesd them he took
them to a feld and gave a

e plece of land 1o cich one of

¥ 4R After six months all returned

i empty handed except Ravid-

ya who carried a gunny bag -

"l"l'.d-tJluﬂhl.-E:!]]mvllﬂuhwldb:

¢ the BEDOND senlente after re-

F -:f.'p-x-' 2

B

o
M E

- of Lhis follrwing should be
.;Jﬂ' FOURTH sentence alter re-

b, ATEOgEmELT

i TR @

fr‘- ALE o
bl =

G4, Which of the loBlowing should be
the FIRST sentence aller roar-

w

- el
o - WE
& F

85, Which of the followifsahould be
the THIRD sentence after rear-
rangement? |

111 A 2B
B C . “{D
5 E A ‘

Disections (86 - 70} : In each
question beiiw o senfence with four
wards prinled in beld tepe is ghoen
These are numbered &= (1), (2], 13 and
{4). Ome of ihess E;urwul.'lr]u pringed 1p
ek may be eilher wrengly spelt or
{napprepsiate in the conmtesl of the sen-
temoe. F'.'ﬂu.q.u;tl'.!md Hany. which
ia wratighy spelt of Inappropriate. The
number'cfthat Word Is your answer. I
ail the wards peinted in Bold ‘are cors”
rectly apsit and also apprapriate in the

comilext of (e sentenos, m.lrkl}ﬁ{.l.:. £

Al correct’ A YOS ANEWER, ¢

s, ‘I'Ilq'luﬂt-‘-ﬂ-1n.l.:l.lﬂ.rh]."1.u1.he
terms of the agresment (21 on
which they [3)/ hiad agrecd upon
{4 earter, Al cormect [5) :

&7. The matn probless (1) af educa-
tion |s that (2)/5tls not exvessd-
Blei 3y to all the peojple comve-
mjently. (4} All'comrect (5]

G8. Last night the embassador (1)1
was sammoged {217 1 the far-
Muﬂhmﬂhc—mmwm
fcis: 19}/ &l correct (5]

88, He was an amature [1]F singer
O3 the age-of Torty, when
i3l he tuined & mi':ulﬂ-ll

. Ral Al orpect I5)

‘o0, It never ceases 1)) 1o xmasing
[2)) me how he can talk for ao
Torsg withoas ever [3)/ eaying any-
thimg intereating. 41/ Al comrest
L)
rectioos (T1=80] 1 kn the ol

Imgj:ugg:ﬂuﬂ:uzlﬂ.anhfﬁnh

of which has been nusmbaered, These

pumbers are pristed below the pas

- aage and against exch, five words are

suggesled, one of whith Gts (he blank
appropriately. Find oul the appropri
ale ‘word in each case,

As yoi all knew, Emperor Akbar
was very (L1 with Birbals wisddm and
Ereathy enjoyed his quickwit. One fine
moming when Akbar was especially
pleased with Birbal. &5 a gesiure of ap
Fuﬂﬂ;lm.h:prmﬂn‘d;u[‘ﬁ]h‘:nmm
miany vaduable and beauliful ffs

However, mamy diys passed. and
sitl] there was no &ign of ewen one gl
Birhal was gquite (T3] with Lhe king
Then one day. when Akbar was stroll
ing dorwm Uve banks of River Yamund
with his ever faithiul Birbal at his side,
le happened o [T4] a cams] passing
by: K asked Birbal why the neck ol
the cam-pl was crooked. Birbal [TH] Lo
a secand and proengtly replied that it
might be becanss the camel may. have
Moegatien f honoar a pramise. The hoty
boaks meriLini thit thoge who (P8 heis
word get punishéd with a crooked
neckAPerhaps that was Ui reasion o

o

ihE camel's cfodked neck.

Aldbar soon [TT) his folly of mak
ing a-promise to Birbal loe gifts pnd
md, honouring 18 He was [FB] of him-
sl As so0f 85 they, returned o the
palsce he mmediatehy gave Birkal his
mhueh (TR rewand. in this way Birbal
89 Lo B what hig wanbesd witbioal db
rectly asking for &,

TL (1) Enprcsacd (2] Exed

(A interesed (4] jealous

5] enthuslasbs

TZ. (1) pamper 1% bonus
(0 reward (4] grve
. [3) rbute
3. (1) jealous % sad
(3 haked [4) hapypy
.. IS disappolnted
. Td{L) starp + 3 nobo=
[ eamdnes (4] Fide
(8 saw
T (1] Dpoughit. 2] seasned
@ answered [4] said
- [0 ralked
61 (% make
A defeat (41 hreak
’ (5] keep
ST D) remdncled  [Z) mistook
T (M realimd (4] apelogized
(5 understand |
7B, (1] forgetiul . (2] ashamed
() grdel 4] sympathelic
(5] scery

TE. (1] accumulated
(2] expensive (3 exoned
(4] aaaited (3] wamied
B0, (1] accoeplish
[2] handled 31 rebrievesd
4] expected (5] managed

QUANTITATIVE APTITUDE

Mrectioza [B1 = B89 1 What
should come in place of the questhon
rrark 17 in the following guestions T

Bl. 7HE3E - 28201 - 12673 =7

[1] BZ100 2 2HTHA

(3] 43620 [ BL2ED

i) Momes of thezs i

82, 8474 + E-EHIH‘?-BL‘I:]T
L) B4 (2] %8
[¥ 437 ) 3G.48
=] MNone of théss
WSP + (2B x5aT?
{1} 15.4 [ 162

13 25.4 ) 25,3125
{5 Mare of Chaess

Bd TED +,/575 TP = 1326

(1 1284 2 a2
A 102 |4} 36
15} Homne ol thege
BS 78+682 s G e dl + 110 =T

(L) B85 2] a5k
(3 B 4} 8840
(5] Moae of thess
88, 260% of 1400 - 7% of 1GH)
= 1580
{1F V1 [E LZE0
(% 1ai 4 180

51 Mone of thess

87, % * 1735 + 368 m 7



[} 553 [# 351
3 451 4] 463
(5 None of thess -
B8, ¥GEnG -7 Lo
[TTRL:] m1r -
1321 4 15
15 Mone of Chese
B B s Te8ed
4 ag 2 21
i3 36 i4l 27
150 %one of thess

8 [25+64n32=?
[t 4B8.5 3294
(2 33.08 4 46.4
|5 Mane of thess

BL E958 = 5313 - 2569 » 7
it} BE1 (2 663
13 6] [4] 654

150 Mone of these
T45+ 25 =25

% See-3a+05
1) 56.9 i 5.96
1Y 5.60 ) 596
15} Mome of (hese

B3, G2 %2 n4585- 655 -

ma ' [ 24
34 ] 16
i Hone of thess
B, 130440:_1:1-3:'?
HIEL . 2 4%
Maz™ | 4 28
15 None of thess
5. (678 - 455 + 132 w0 = 7
(1) 142 [ 07es -
H BaT.5 4 158
(5 Mone of these -~
DHrectlons (28-87) : In the fol-
fowing number series anly one num-
ber is wroag. Fird oul he wieog mum-
HT. .'|_'\- - r
B4, 8. 11 17 47 128 370 1100
nit @ar M
i3 17 (4 371
il 128 )
.1 5 13 3! 81 125 283
{1 25
(& a1 ) &1
5135
B8, A car covers adistancs fmm town
A to town B at the speed of B8
kmph and. covers the distance
ﬁ':ﬂt-l.pmilhlmn.l.__nttl‘l.n:
spesc E.82 kmph What |5 the
averpge speed af
thecar¥ . i

«- {1} B8 lonphy- (2 52 kmph
() 48 kmph 14 Enhmph
i) 60 kaph
88, Mr. Phanse fnvests an amount of
Fs. 24,200 atihe Tate of 4
+. popek for Gyers toeochlaln A
simple interest. Later he invests
ihe princlpal ameuns a5 well s
.. the amount obtalned as slple i
. terest for another 4 years at dhe
same rate of [mtzrest. What

thdm;ph interest wilj he

-

ai the end of the last 4

) Rs. 4800
(2 Rs. 4.850.3% . ..
(3] F=, 4,801,328

bl hﬂuh.}m'ﬁﬂnﬂqn’m&‘f
ot & Biscount of 25% ol the
tng price. I & wrdl'dq-
Rs. 5896 in the qale, whqu,
ulinsmﬂunmrwm
{i] Bs 5.0F0 (2] Rs. ?.ﬂ.fj}
1% H=. T.G6D ’ W
14) Cannol be delermined 'f;:
150 Hone of these ]

" 101, Whai approximats

ml.l‘lpl-l.ttnl"tp:qm

revark (71 in Che follcwing gur

THM o+ J313E w2anp e q,.g;:
1y 204 B aTe e
I 265 [4) S0 "1
Is 288 ' 4

102, The cost af 15 digial caisene:
. and 21 handy cameras fu
R8s, F.54. 0K What 1s the m
d’ﬂdﬂlﬂm.m‘rml*

cameras ? 3

i1} Ba. .25 500 .-'ﬂ
i2) Fs. 1.08.300 s
mh 205, 100
14} Cannct be determined {
(5] Medie of (heae | ’
lﬂ-ﬂmﬂ:mmqulmukn-.ufm‘
for seven days. How many ki
-:I'm:wﬂ-lr:mullrl'c-em{

mranithe of Anet] aid May Dogab
er ?
(1] 45 i} 4 "

(31 288 4 358 -,
[5] Mpome & L J
m wﬂuﬂmmpmﬂuﬂr

mmmnmum
aaEmher series, ¥

=2 =S G =T w T -lHﬁ
B VIR =T S TR ] s
(3 136 4 26

5 Spwe ol thise ' -

1048, The wiz sumber of studerds il
& schoo 5 31700, I the raliod
bowys 12 b girls in the schuol i
743 . 347 respectively, w
The 1otal mamber ol girls
schac ¥ s ]
171 14D [?.I"IEI'FH;J
1% 18280
i4 Cannet be determined.
iS5 Nooa of Lhese - e

Mﬂzmﬂmweﬁ
rumbers A B8, Dand B is L300
What is the product.of Aand £1
13 T2 2 GG
13 &5 (4 672 |
150 faoe of Lhese

107, B (e squinid of o ndmibiée' s sub-

' mﬂﬂdﬁqﬂdﬂﬁﬂnﬂ'ihrdi
fefenmee i mullplied By 15, the
angwer 80 obtainéd B 413490,
What is the number 7

36 .3 oed,
& 22 4 1295
15 Tvanes af (hess

1H- The population of & teum & pears
g was & 45000, 1 increassd
by 12% in the first year and then
inereased by 15% in the second
T year Whad is the 'surrent popu-
lation of the town

1) 305860 (2) 2.74.400

i3 3.51.5680 |9 L.94400

158 None of these ¢

0B The pertmeteral'a squsare is 504
=. cms& What is the area of the

-ﬁ_ﬂ'wkﬂ'ﬁ.\r} rad

,EMHI:I.I.I'E'?'
LN 20VE By o
.._;-.u U2} 16876 =q.cms.

'Hl'l'm 15376 sq.cma.
j;'ll'l-b{-“ 1008 sqoms. -
HURY Nodie of these -

110 Mra ! Sheeln .pm!is 18% af her
20 priomh by income foc the chikdren's
education. She spends 325 ol
! ey monthhy nccene tchousehald
expenses and 1% In traveling.
..qlﬂmlpﬂhdq-lﬁﬂ of the remain-
Ing amaunt in gammbling aoed man-
‘ to. save anly Fs. 9405 al
‘ I':h-: end af the month. What i=
mﬂm E‘md.l.'ﬁlu'llhlrlﬂﬁﬂn‘rt?
H.Fa 38,000 (2] Rs. 50,000
s, -IE 00d
i’ﬂh Cumuhﬂﬂmﬂneﬂ
i 05 Meme nﬂ'lya
1 Hm:&‘ewnmumimw
-, ael off
;11": TG 3;-;2' I]EB 43 214 358
r 1

L

_EH'!, -'l-."" "'.

-

Q)38 ) A96

e hﬂdl]ua.ru:ltllhttm
E: complete the same plece of wots
wiodn 12 dave, In how' many davs
L% wan A and B wogether complese
irerlhe wame plece of wark 7
_"UJ Gdays (2] 4days
4 ddays ) 2 days
18] Mome of thess
Lﬁ'-ﬁw covers & distance of 134
u‘r’“ﬁn in 4 hours. What I5 *he
ﬁ@;@ﬂm:w?
Funph i2) 40kmph
,,a_ 33 ket (4] 32 kmgh
H"ﬂﬂﬂl‘hﬂc
I.H- Farida imeesis an améunt of Bs,
3,600 for 3 yeare ab the rale of S
pep nﬂ‘i'.l'hat approzimate
armscnand of cesnperimed inberest wil
she obirin at theend of 3 yeam?
(1] Rs. 548 (¥ Rs #0%
[3] Eu, 678 (4 Rs 665
(8] Fs. B53

-ul-n
-I.ul--

118, If the fractions . %

o | an

1 3 ;
anl:IEim armanged In the as-

cending order, which fraction will
be a1 the 3rd place ?

i
i q ; IFI

W
i None ofthese: - ’
Derecticms {118-120] : Snady ihe
following prodie of parliament can:fully
inﬂ;lﬂlh{gr, the gquesiions glven
h"l'w | o I i f
PROFILE OF PARLIAMENT
v INYEAR XKKK
mmum.m
(480 fromm Lok Sabba and 150 froam
Halya Sabha}

mite e



117, Jn Rajya Sabha i 30 male mem-

ket were replaced by 30 female

meribers, then whol ks the ratia

af male members Lo femaks nwmn-

bers respeciively #

I 3:1 2 3%

3, 1:3 M o2:3

20 |
118, What percentage of members In

il mre businésamen ¥

i1} &% [ 0%

13 S0k (41 18

1% 0%

118, M all the cthers” party wsmbers
of Lok Sabhn join Ue pariy B
 ther whal woubd be the ralis Le-
tweprrmmhers ol parky & to e
miermbers ol pasly B redpectively,
5:2 @65
@as 4] 7B
E 4D .

120, Out of total members of party B
P parument, what percentage of
the members belong (o Rajya

Sabha? .
) s0R (2] 3%
[ Z5% ) 20%
5 15% .
REASONING

121. Ina cerzin code PAGES is writ-
ten as ROIHU and WRITE s
written as YUKWG. How will
OTHER be writier in Lhé &ame
oode T
11} PWIHS 2} RvRLGL
13 FWIHD (A QWIHT
18] QWHEHT

193, Whuwli-:nmtmpuﬂu.iqum-
L |7 el drs W Dol ovingg so-

res 7 L

B3 I DR TV 7T O-,

il = 2 Wz

3wy 4] WX

15 Xz

Directlons [123-125) : Read 1he
fodioesng information carefully and aa-

swer the quesisons wWhich odlow.

PO RET and V live en diffor-
el Nesars in the sams bulsding having
glx floors numberad one Ll sz e

groumd Boor is aumbered 1 che o

b i, maarmler 2 and se an and the
topmest floor Is numbersd 6]

T Bves on an even nembered
floor. Cmly cose pergan lves berween T
ard P P Bves om a Moar below T flear
W lioss ok Bive 00 & Do immesdialely
above or immediately below the floor
o winich F ves, V' dees nod Bve onan
even mambered [loor. B Bees anoa loar
tmmedgately above the lear on which
& livea.

123 Whao amangst the fellowing Ihu

ot {he topmost Moor 7

(lHR 2o

3T & F

15} Cannot be deltérmined
4. Who amangst the fellewing Ihes

v the Mhor exactly betwecn the

Moors on which P and T live 7

LN [ZI R
1315 14} ¥
5] Etther R or'y
128, Om which dﬂum;ﬂm
dioes R bve T :
11 Emd Illﬁh ,3
13 6th 41 3nd .,

15]'l'_-‘:.unulb:dﬂmirld-

. Torestions [126-127) I"-huruf'
the falkawing Fve are alile in o certain

wngd}ﬂmt&#mim“ﬂh

e ant that dees, dot mmamm '

group ¥
126. (1) Single 12) O

(3} Sobilary mm

(54 Encdvicluind
127. (1) Difocal mmugrap}umj
© ) Ellaterai H-IEIp-:ﬂar

(5] Ballngual
Dluﬁtlun;{lﬂﬂrlﬂ.'ﬁ] For of
the fctlowing five are zlike in o certain
way and hence {form a group. Which is
thee: o that dees nat belong Lo group?
1x&. [1] BDHF [2) NFTR

3] JLPN . (8 5L

151 EGJH )
L0 |11 RSN (2} KOMR

13 TUSX (=} EFD

[5] LIHM

Directions [130-131) : Read the
Telbercing infoeTricison cerefuliy and am.
e Lhe queesiians which follow:

Amangst e Irlends Bharal,

Chiaru, Evehyn, Anshu 2 Daniy, each

Dought a camputer for s different prices:
Bharat pald more than Char Bubitss
than Evelyn. Anshu pakd legs titn only
Dramssy. Bharat bought the computer for
T A0 The one whi paid the max--
fmam pasd T 53,000,
130, Who pald the minimum amount
for the computer 7
[1}Anshuy 12 Chama
[ 3 Evelyn
[4} Either Chary or Bharal
{5 Canneat bo determined
131, Which of the following 15 true
with regard to the given infor-
maticn 7
[t} Bharat bought the computer
for a price more than that
pakd by funsbia
(2} Omly eme person pabd lsacr
amcst thap that paid by
Arsiig
(3] Mo one pasd more amound
than that paid by Charu
(4] Evelyn pald T 53,000 for the
Compier
51 Amongst the fve friends,
Charu is most likely 1o have

pald B D Gl for e =
puter

DHrectiens | 1532-138): 5o e
(oilousing nformation carefully and az-
swer Lhe given glcstions.

Edghi freends &, B, C. D, E.F. G
and H are siting around a clrcle Gac-
ing 1J'|||:_n:n|:r|.-. bt nod mecessacily in
the same order.

F &iis setond o kit of E. Ads an
immedate neighizous of both H and G
Neither H ner O i s Ienmediate nelgh-
tour of gither Far E, Two people sit
between H and B. B ks net an immed-
abe peighbour of £, Only ane person
sits briween B and 0.
lﬂ“nwﬂ:fﬂmah

mﬂ-ﬂhﬂmﬂﬂmdﬁ? ’

s . 2 ’

=R e HE

BF '

- mmunmmlumucmm

reapect (o the position of H 7
- {3 Third o the beft
) Secend 1o the heft
13 Immedixts belt
{40 Third b ihe rjght
{8y Second to the right

134, Starting [rom A iF all the (Hends

" are made to it in the alphabetl-

" cal order in clochwise dinection,
the phelthans of how maey ex-
cluding Al will remain un-
changed 7

. (UMame - (¥ One

13} Twrar 4] Thres
18 Four

135, C s related (o D in a certain way
based on thelr positions in the

ghven arrangement, Similarty A &
related 1o F in the same sy,

. Following the same paitemn, Fis
relaied Lo whom amongst e fol-

rangement ¥
1) A st to the lmemediate fight

ﬂlggumﬁdta Fighi o A

(3 F gdls eoxsct by by 5 cunat

(4} Three people 01 betwern g
and

(] Mgne is rus

137. Who amongsi the [olhsing si,
third to the right of o2

ma 2
AF 141 B
HE

138 Which of the foilowing pairs rep-
resents the immediale nelgh.

s of F 2

1) A 13 BaG
13 Ga AR
[t L

Drections (1¥9-141) © In sach
sl of question below are two) Lheer
sLalEments (olowed by o conclusions
numbersd | and Il You have Lo wake
the teo/thres given statements Lo be
true even il they s==m o be al var-
ance from commenly known lacts and
then decide which of the piven candu-
slong logleally fallows fram Lhe given

slalements disregarding commanty



ﬁnm[llﬂnuﬂyﬂmﬂu—
umlhlhn
H‘llmlﬂ'iﬂhl'ﬂnnnlu-
alion 11 folless
Give anrwer (3} l[enhwl:m-
chusion 1 or 1 follows .
Give amswer (4] if neither Con-
cusion 1 nar [ follows
Cilwe wnswer [5) if both Concle-
sions 1 and N follow
Directions (130-140] :
Statmnenis |
All wires are switches.
Mo gwitch s a plig.
All plugs are chargers.
130, Conclnslons |
[. Howire s acharger.
if. Some chargers are definiely’
‘et awiiches, -
mm:
[, To plug i a wire.
i ﬁlﬂmhﬂm&ﬂu:mul
poasibiity.
141 Statemesis i
'Snm:mmmuh
All fijghta are wars.
Comchosloms: = -
[, Al fights being ballle is o
. Hﬁﬂ-lﬂﬂlhl“h- 4n these
ql-ﬂl hip b dilfer-
et el & 0 Ehown in! (he atate-
menlE, The slabemenis el by
pwo corchesions:
e -I.I:I..hl' l'llﬂ'un'l:r Comclua-
afons | istrue
Give answer (2] IFM'IJI' Concdia-
i-:rﬁ-lll:.trut
Give amswer (3] il either Con-
r_i.u.}malmll Is Erus
© Hve apgwer (4] i neither Con-
Clugions 1 nor 015 brae.
Give amewer |5 if boih Canclu-
wicins | and 11 are true -
142 Statements ! )
Ex2TsAExT:RaxD=T
o Conslosiena: 1. RS
: . EzA
143, Statemments
" GeH=TgR:F<H
] Copchisslons: [ F< 0
s H FzR .
Btatements 1
Rad=MsT=¥=0_
Conclaslonsr . D2
ll. R=%

El

145, Statemestal | .
BrLgl=C =¥
Conclusions: 1. | >V

b it €L

l-_pﬂ-. Slatciments

RefxBiCxA; FeB

Conchadeas 1 . C=R

’ l, Fig i

Direetlons [147-161) s Saudy the

information loasawer the gav-

m Cju e o £oa
In & certaln code,

l‘ ‘mpre speed and ecenamy’ s

a5 e fe ol Ba,

- “moourate bul An speed’ 15 writ-
m s ru ka di wd and

< Cmmoes but soourale oaly’ i8 W
o Ey dl zu wt' ’

+ What is the code far ‘markst”
1 (2 50
@3 fd md
ﬁ {8] Cannct be determined
What dioes the oode wi’ stand fa?
[th n (2] peeedd
B Blanly 4} Essaves
fir- 3] Either vt or accurale’
Htm-lmnf;hg{nljmqmnup-
*., Tesent Minor Iseues colyF

Al igzame (2] Ey bl
po Bibliggy  dgrigha
o B a g fe
,ABO. What is Uhe code for ‘economy” #
11 sa 2 e
[:31 md 8 kea

=" |5} Edther mi ar ‘s
(8L Which of the following repre-
sents ‘na more speed’ ?

(0 fe karu |3 kafeds
[ kamala Ill-]ﬁ:dlru
50 di wi e

MMrections [152-154] = Each of

h: qiestians below onslsis of a ques-
pion and e statemenls numbentd [

and [l given below i1, Y have o de-
citde whether the data prosided in the
siaternenls Afe & I:q:.rmul‘_hu

Gilye answer (1] If the data In
ﬂll,:l‘lpﬂt]ﬂlﬂ.ﬂt“mtu:m Lo @m=
AWeE the question, wh & datn
Wr.d Ilam;rem:mﬂhuum
ml‘ﬂ.‘raqm

pmmﬂ]ﬁ'm:dmm
Mntlluﬁmmﬁ:ﬁmﬂﬂuﬂm d:.';ll‘b-

esiEn, w = n
MIMEMMMM
amswer (i quUEstion.

Give anawer (33 if the data ef-
ther n Statemem | alens or In State-
m:ntllulmemiﬂlﬁwlmmm
'Illeqlﬂl‘.lth .

ﬂnm[ﬂi“d‘tﬁmh
m|trm-1h=5t.nummul roar 11 Lo s~
cient to answer U guestion,

) Give angwer [F il the data in
oth the Statemeris | and 1l tagether
are meoessary 1o anewer the question.

383, Amang A, B. C. D and E sitting

I circle. Eacing the centre, who
. Hitata the immediabe right of E ¥
I. B wits third to right of E. D s
an bmmnediate n:ﬂlbmrd

; hoth B and C.
1. & sfis second to left of C. B
is an immesdite neighbour of
&bt B s ned anirmmediale

188, Is A the daughter of & 7

1. M, the ssseer of R ks the moth-
er of A The san of 5 1a the
cnly breiher of A

"Il 8 is the only child of §. @

has onby one grand-daughter

andd one gransan.
154, Who is the Bghiesl amongsl P,
QR S5adT?
. Pis heavier than & but light-
er than T. Only two peopls
fre heavier thas T,
Il. & ix Eghter anky than . T s
hesrvier than B P and B
Directions |1 55 L6 © Sty Lhe
loficraving information (o AnEwes the gy-
0 questions -
Eigh. people are altungm Lwo
rorars Conlaindng four people
each, in such & way thai there s an

the statements

T 156, Who

eqqual distance bepween adgacent per
goin=, [n rew- | P @, K pnd 5 are scal
ed |bul nol necessarily in Lhe sams
opder) and all of them ass facing Mo
19 roee2 AL B, Cand [ are seated [bul

fof Tecessarily in Lthe same arder and
al of them are lacing South, Therelore,
Im thee ﬂva’cmmg arrangemend each
memnber seited tn 8 row laces anothe
enernihi-of ghie ather row.

: 'f-t'.u&'mu to left of D R is

.uwmn--um-.e peron

person sts bebwien
R ﬂ Pv::mmrrul.l'mft ‘I"-.'.ru'pln
plnulummltmu

185, wmi arongst the Bllawing Gau-
F?

e A [

T, WG T WD

g&{ﬂmnub-:ﬂebenw

it thie Eollowing 56

— s fo e Bamediate e of the pere
muﬁjama?
- 2a
@R 415

oo 15-__]-1:‘nu111u|.be-dﬂ.m‘l'|1rl.uﬂ
Wi amongss the thnﬁngra-
teaD ¥

Sme (1] ¥

AR s
[5) Cannot be determined

" 188. Which of the following 13 Lrus

Tegasding 57
(1) 5 mits &l ane of the exirems
ends ol the line
(2} & sits second to right of &
(3} Fla niod an fmmmediaie nelgn-
krwir of 5
{4} B 1s.an [menedinde neighbe:
af the perzan who faces 5
{5] Mone s true
Torectioas (158 160) : Fous =f
the following fhve are alike in a cemaz
way based on the given sealiGi &r
rangement and thus form a groep
Witich is the ane kit does oot BEOnE
Lo hak groag®

189, D P
IMaQ 415
15

60 [ R~ P 2 B-D
mg-% MA-C

.. HE-R

MARKETING APTITUDE/

COMPUTER ENOWLEDGE

161, Features of channels for bank-
Ing services ase
(1) Intangibitity/inseparalility
from the seller, varabidity in
cusiomer EXperisnees.
2] Periahability and non-
storabitity/ personal conlacls
with clienis.

13 Banking services have nd
and personnlchan-
niels af distribiaticn. -
{41 Combimation af [1] an< (2]
- - 5] Mone of thess -~
182, The client af &n a-:l'r-:rtlling
- agency & called ;
11} Customer 2] Mg
[3) Corporate i} Acoourt
[3) Mare of theas
183 The companents of Promotion
Mix arg = '



166

168,

Ni--}

[} Agvertising: a pald form of
rim-personal promalion, pers’

sonal selling; persanal prs-
nnmmnwwmpmmcl

enls.

2] Sabes camgalin, foencourage
sales/public relations: [OF
nuilding good relations with
“lients,/direcl markeling: is
making direct comrsect with
individual customiers,

3 Sampling ard coupons

(41 Combination of (1) and (2]

5] None of these

The main features of MarKeting

parimenis and specialis ex:
ecutives, future arssntation
g anticipating and prevent-
ng mwtﬁ:rngp-mlarm and'
sobving them

{2l Factlitation rnr developing
decistons in planning.

ﬁrﬂnhml. controlling and

]| Daﬂﬂmnﬂlh{.wlm.lm;
and controlling the major ac-
wwities of Lhe business amd
inditating action.

(4] Al &l the abowe

|n'f|$mdlcal Empecial-
ist and legal advisars.
[} Speciality genvices
{1 Specialiy products
[A) Primary servides
[4] Sacisidary seTvices
5] Name of these -
The _____ fepresemis our &x-

pectations of the general need for

the item during the lead tme.
(1] Resanier peam
[2] Safery stock quantity
i3 Recrdering policy
{2k Beardering oycle
|51 None of these
s ihe principle of argant.
zavion of a region around several
peticical. socsal or financial cen-
ires,
|b} Exbmoeeriirinim
T} Pobemerism
[T Mackelng expansion
i8] Cebal marketing
F o= o ihese
Watera! cuiture I dhided bt
e AL
) Language. esthencs

=3 Teermsdngy, Eoormics

3 Elacaa Relipon

4 Ammades ahass

E None of thass .

{Zemindy the group name, wnose
mrimaySf SLALSITET |

T beecmeTes & Sajor player i Che
bl cherrocal business and -
multansoushy growih i ciher

growih indisisies Lkt nfirmsinuc:
ure”
([Vj Feianee (2] TR

. 131 Bharti enterprises

(4] Hotak-Mahireds
(5] Hone of these

170,

171,

17%.

3 ts the latesi-buzowand in

corporabs boardrooms.

(1] Service quality

2] Service sectar

13 Service indusiry

[ Al aline abore

(5 Mone of these -

Ciobal marketing is

ILh the al markeling
mﬂuiumumwmﬂ
wmprwﬂu:mh

2 parforming marketing &ctid-
ihis poross national Bound-

anes .
[ whe creation of value ang
exthange -':|r value he
e Py ) Y
14} having firms with -:-prraum
or -subskdianes ocaied u.
MRy Couines
[5) Mare of these
Thie Chadrmman of Unilever suas,
mllﬂumrhujuslmthi
market. H:fl::laam'-un:n.,u,

ing this siance ig
passing up p_rni'l.l.al:rl't bu.-ih'.qti.
His approact MOST closdly rv
weEmliS ot
(1) exparting :..;‘.
(2} global markeling :
{3} expori merketmg g
14 lakl-scalks I:rl'lzr:la.'lunn.ul rrwh-_
Cheting
(5} Meme of these - %
73, MeDonalds and BFC ﬂlﬁf_'n'hq;

g1y consumyers o every nemi-
sphere, This is nnmmﬁd:_.r
lllmmum .
" 2] eusktcamisaticn

. 1 reglomalisation
51 Mone of these

174 Ethalnwmmwhm: devel-

oping Mmarketing arrRlegies 458

- phe warkd #-one macket. Which

one of thie foliowing mar'HeI:-Jg
mix variables is MOST dillicall
tnm,wﬁ-e for glofial skl
ng?

i1} Brand nasme 2] Package

13 Media aBiocation

[ Labels 5] Hone of
these
175, When Graphic Froducts derid

e 10 go intemaibonal with s

marketing eflort, it adopied &1

Lally global approach. Which ot

of e Folbowing factors did GF

MOST Likely experience diflsul

Ty with as thy ferm applied 2 ghe

bl srrategy for markeling?

L1) Braswling

2} Product charact=rislics

(3 Packaging

14 Actvertising

(=) Bone of these

When products are introduced

i o nadian frem andther, ac

ceptance is far maore Hkely

() il prices are sel wery liw

(%) when bribes are pald Lo el

Lo Akt diistribution

13 1 there are sbmilarities be-
tweer the twa culluses

4] & packaging la adfusted o
masch local custonms

(8 Mone ol thess

177. Which of the foliowsng & 20

pipedd bo pabse FEvens Tk LT
try anddfor in proles

| products?

174,

-

¢
£

T,

=,

[¥] A queaia

(2] A warning babel

(3} An embarge |

£4) A bmpest (A

1) Mane of these

The 8 the differsnce
In vahss hetweesn a falbans &
ports and iLs impars.

(1} bakance of paymends

. [} exparty gt ratio

(3} gross dormestic product
{93 met frade valwe
151 Nane al.these

170, JCB would Yok to which of the

l"-

fallowling [actors te determine
hisw trade barriers wonsld alfect

§ u:abﬁq.-inm:.rkd.uﬁﬂh (ECOt

g EtuEpment. in -.l:rh:rus CTAKTE-
irass™

E o (| Lp Politecal and legal Forces

)
T

(2} Interpersanal s

, 12 Social farces

[4) Technolegical foroes
|3 Mane al these

180, Which ol the fallowing stademenls

v

&

13

aboun t=chnalogicsl forces 1o in-

iemational marketing is TRLET

{11 Television advertising can T
used universally ihroughouwl
ke warld

12} Much of the teehnsbagy used
in indusirizlised reglons of (b
world may be ill-asted for
develaping countries

¥ Because all countries have
up-to-date postal services,
direct mall advertising is al-
ways aviakle oplicn

4 Techaalogy is generally not a
prabiezm in mlemational mar-
keung

5! XNane of these

I5 when the mosg pow-

=7 hungry companenis, such as

lhe moninor and hard defve, are

“ P idde

18z,

[} Hmematian

{2 Prasr down

(3] Standby mode

4] The shutdown procedurs

15 Some al thess

Hard dis¥ driwes are considered
sOrage .

11} Flash
12} Mormealatile
|3 Temnparary Y

"4 Menpermanend

mm

=) Mone of these

key and the

iy can mmmmzmmum-
tion wilh other keys o perform
shoriculs and special tasks.

11} Controd, AlL

13 Punction, toggls

3 Delete, insert

" [4) Caps Lock. Num Lotk

[5) Mone of thess s

1E4. The mosl common inguat devices

art the ___andthe



{1) microphone , printer -
. [2) scanner, moniter

(3) digital camera, speakers

4 keyboard, mouse .

:5] Mone of these
185, Tosave an existing file with a new
: name or to a new location, you

should use the eommantd.

(1) Save

{2) Save and replace 183, All of the [ollowing lerms are as-
(3) Saveas , sociated with spread sheet sofl-
{4} Mew file ware :xce,m )
(5} Mone of these (1) worksheet
186 Which type of seftware manages 2] cell
the computers procesess, func- (3} formula .
tioning as an interface, connect- 4} virus detection /
ing the user, the application soft- (5), None of M e X S
CwWare and the hardware? re devices used 1o .z/ o .
{1} System software tmsrﬁitdatawf:r telecommuni- {a\ =
(2} Utility program cations lines. g
N g i © (1) Drives ST
{4) Opérating system (2) Drives bays - TS ——
'{5) None nfth;ae S s ¥ A RN
IS'L Th rtion of the CPU that co- i .,
pn;iﬁ:tes the activities of all the B Platfionasts )/f z'/ R
other computer components is (5) None'of these NS
the 1856. A is apprmdma}elyam ;oS
1Y Matherbua.rd hillion bytes. ¢ \\ \\K’/ ,-”/
(2} Coordination board (1} kilobytes “‘- /
{3) Controlunit (2ibit
{4) Arithmetic logic unit (3) gigabyte (, AN \
{5) MNone of these (4) megabyte T
188. Something which has easily - {5) None of these— T e /’
_bcunmx;mdmsnumm is said to 196. A repair for a *Mm Rad
e bug, usually available at no-
1) User [riendly. chf.r%em‘,i ttgi:{:‘pnﬁ is uallﬂ/
12) Information aln) o
(3) Word processing {1 ve‘%{mqn o \lz} patch%
{4) lcon " (@) tutorial™. Q /
(5) None of these /{5) None of these er

not solve the problem
{5) MNone of these

192. The term bil is short for —

{1) Megabyte

- (2) Binary language

{3) Binary digit
{4} Binary number
(5) Mone of these

189,.In a dalabase _ Tliekls }m@mpule her data, which
store numbers used to perfurm n-l%an&y-.af_ allow users to
calculation . o \\\ aa@ P )
Ili Next el . /() Present (2) Input
{2) Key . : < (3/Output ;  (4)Store
[3) Alphanumeric o {ﬂﬁ?né of these
{4} Numeric o P 7 ins. Which of the following terms is
(5] Mone or these foo— “just the connection of networks
190. Aln) _ is a combination | (-~ “\Ihatdan be joined together?
. of hardware and software Lhat - (1) Virtual private network
[adhtafts the sharingof infopma- " ./ (2] Internet
gn betweesn computing dwuﬁes - N {; (3) Intranet
[l] Nmr-k - . :‘ \.\\ --.__\.-\'- ey e I4"| mmt
{‘2.]Pﬂ'lph=ral- # NN {5) None of these :
(3) Expansionboard IR - - ¥ laafmmot‘pmgamnt
{4) Digital device ;. .~ memory- that holds ali the in-’
{5) None of lhc;e i structions the computer needs
' to start up does not get erased

181. Which of the Eﬂlowmgml.tmenls»
is true cﬂntenuﬂg? _ . _
(1} Virtual-memory is the spam i

on the hard drive where ke
© operating system’ beging fo
store daia when u\becumea

. memory-houiid - ™

{2) Accessing data froug FAM isa
slower than accessing dala
fromvirlual memory.

{3) When it is using virtual mem-
ory.. the operaling sysiem
builds a file called the RAM

. file
{4} If & computer is memory -

g

when the power is turned off.

{1} The Network Interface Card
NIC)

i2) The CPU (3] RAM

{4 ROM {5) None of these

Servers are computers that pro-

vide resources to the other com-

puters connected toa )

(1} Network

(2] Mainframe

(3] Super computer
{4) Client
{5) None of these



Mocel paper — 26

== ANSWERS —=

1. (3

2. {1}

3.4

4+ {3}

5. (1)

6. (5]

7. [3)

8. (4)

9.3

1. (2]

11.02)

12. (2]

13.(1)

14. (4]

15. (5

16. (2]

17. (3]

18. {2)

19, (4)

20. (1)

a1. (5)

22. (3)

23. (4

24. {5)

265. (3)

26. (4]

27 (3

28. (1)

289, (3]

30. {4)

3L (4

32. (2]

a3. (2}

34.(2)

35, (1)

36. (1]

a7. i

38. (1)

39. [3)

40. (3)

41, (3]

42. (1)

43. (3]

44. (4]

45, (4]

46. (2]

47. 15

48. (5]

49. (1)

50. [2)

52, (4}

53. (2)

54. (3

55. (1)

56. (3)

57. (3]

58. |4

59. |5

60, (2]

61, (4]

62. (5

63. (1)

64, (1] |

E’Er EB]

66 {1

67.3)

68, (4]

69. (1]

70. (2]

TL. (1}

72. (3

73. 15

74, (2}

75, 11)

76. (4)

7713

78..(2)

79. 14}

80. (3]

B81. (1)

82. (5}

83. (2)

84. (4)

85. (3}

B6. (2)

87.13)

88. {1

89. (3

90. (5}

91. (3]

92. (2)

23. (4}

94. {5}

o5, (1)

96. (3]

© 97, (3)

8. (1)

oa. (3)

100, (2}

101. {5

102. [2)

103. {4]

104. (4]

105. (5]

106. (3]

107:1(1)

108. (1)

109. {2}

110. {3}

11L. {4

112, (2]

113. (1)

114. [S)

115. id)

116. (1}

117. (2

118. (5)

119. {3

120, {4‘1 !

121. 4

122, (1)

123. (3)

124. {1}

125. (4]

126, (41

127. (2]

128. {3

129. (1}

130. (2}

131. {5

132. {5)

4 1ag, i3

134. {3

135. i1}

136. (4)

137. (1}

138. (2}

139. (2)

140. (11},

141. {1}

142. (2}

143. (4]

144. (1)

145. 1)

146. (5)

147. (3)

148. (5]

1489. (2]

150, (5)

151, (1)

152. (3]

153. (1)

154. (1)

155. (3}

156. (1}

157. (4)

158. (5]

150. (3)

160. (5]}

161. (4)

162. (1)

163. 4

164, (1)

165. (4]

166. (1]

167. (2}

168. {2

169 {1

170. (1)

171. (1)

172. (2)

173. (1}

£174. (3)

175. (4

176, {3)

177. (4]

178. (1)

178. (1

180, (2]

181. (3)

182. (2)

183. (1]

184. (4)

185. (3]

186. [4)

187, (3]

188. (1)

189. (4)

190. (1}

191. (1)

182. (3)

183. (4}

194. (3]

195. (3)

108. (2}

197. (2

198. (2]

189, (4)

200. (1)




= EXPLANATIONS g oo

1. (5 Repo Rate

2, (1} Federal Reserve

3.4 Oniy A& B

4. 13) Kirit Parikh Commilles
5. (1) Only A

6. (30 AllA, BandC

7. {3) Provisioning

8 4 Only A&B

9, (3] Paddy

0. (2] Oniy B

[1. (2] Sugarcane

L2, {2} India 13. l!!Bm;nn
14, [4) Badminton player

15.. i5) A, R Rahman
16. (2} Bhutan 17. [SHF‘F‘C
18. (2] Jatropha

!

v

19. (4) AlA, B&C 3
20. (1} OnlyA &
21, (5) Switzerland (Geneval 1;
22, (3} Harivansh Rai Bachchan F’i
23, (4] Arjuna Award ?-{i
24. (5] Duleep Trophy o
25, (3} South Africa 5
26. (4) OnlyA&C. - X
27. (3} Taka F:
28. (1) Brahmaputra &
29, (3} China

g -t

30. (4 AllA, B&C

31. ‘4) Only A& B

41.{2) Mayadas had promised tgg
serve in gold dishes which the
guests were allowed (o take humlsa
with them

42, (1) It was Raldas’ brother HKuber's
plan to teach the rich business;
man a lesson 5

43. (3] They did not serve him any,
food until he learmt a lesson oo,

" what he had done with Raidas 5

44, (4) Al of these i

45. {4) They would hope for some gm*“
erosity from the businessmai
since he was rich g

46. (2) He made promises to 1huu:§
but never kept his words !

47. (6] None of these ;

48. (5] Never go back on your pl‘ﬂﬂ'l"f
ises

49. (1] Raidas had rc_:cited POes mgl
him but had not asked for any.

- gifts in return

BO. (2) Clever

51. (5) The meaning of the word Nar:
rate [Verb) as used in the.pus:

P

.1.;-

sage is : to tell a story: 1o de- 86. (2)

scribe the events; relate.

I ———

impossible’ (Snnp}e Past).

6l. 4 E 62.(3)F

63.(4)D 64.{)B

65. (3) C :

6. (1) The correct sp-elling is : ad-
here. ™

87. (3} The appropriate word shnuld
“be: accessible,

68. (4) The correct spelling is : crisis.

€9, (1) The correct spelling is : ama-
I.eur

70. 12} The appropriate word ma.lld
be : amaze.

71. (1) impressed 72, {3) reward

73.(5) disappointed '

| 74.(2) notice 75. (1) thought

76. (4) break T7. (3} realized

78.(2) ashamed  79. {4) awaited

80. (5] managed

82, (5)

B5, {3 7=78+652+6+41+ 119

§7.(3) Here, particular building

caught fire. Herice, definite arti-
cle 'the’ should be used.
Hence, replace ‘residents of build-
ing’ by ‘residents of the building’.
 58. (4) The subject of the sentence is
inThird Person and Singular Num-
ber that will take Singular Verb,
Hence, she keeps getting mi-
graines will bf::ermct us-
age. ;
. 59, (5) No error
60. (2] The sentence sh-:ms past time.
Hence. repalce ‘It become almost
impossible” by ‘it became almost

81. (1) 7 = 75638 - 36211 + 12673

= 88311 - 36211 = 52100
874", o037
200

= 42.37 + 2 = 90.37
= 7= 90.37 - 42:37 = 48

45«45
53-_ (2)? = 55«

XE

84. (4) 780 + J676 +7% =1326
5% +'?-1326_
= 30 + 7= 1326

= 7 = 1326 - 30 = 1296
o 7= 1296 =36

= 8846

250x 1400 _ ?x1600
100 100

=1580

= 3500 -7 :-t_hl_.l_i = _!531:!

=7 % 16 = 3500 - 1580 = 1920

1920
b - A
= "6

=120

87. (3) 7 = *E%gwamasa
~93 + 358 = 451

88. (1) ? = Y6859
= QI’QKIQXIB =19

A

864 B4
82. 5) g7 ~% = 7= 9.3~ 2
290. 5 7=125+64 «x 32
= 12.5+ 20.48 ="32.98
g1. (3) ? = 8963 - 5413 - 2869
’ =681
” :N—leﬁ
oz, ?__L
A Eﬂlﬁ
32
2 x4 x 4585
TxHx 655

745
- S22 o596
125

93, (4)7 = =16

. 180
4, (51 3x7= E’% = 108

108
= 7= 3
5. {1} 7 = (B78 - 455 + 132) x 0.4
= 355 x 0.4 = 142

84§, (3} The pattern of the number se-
Hesis: 8+ 3 =11

11+32=11+9=20#[17]
20+3%=20+27=47
47 + 3% 247 + 81 = 128
128 + 35 =128 + 243 = 371
97. (3] The pattern of the number se-
ries is :
1+22=1+4=5
5+23=5+8=13

13+2‘-13+1s=29¢@

29 + 25 = 20 + 32 = 61
61 + 25 = 61 + 64 = 125

98. (1) If two equal distances are cov-
ered at two different speeds of x
kmph and y kmph. then

=36

23y
ﬂvm-agespe:ed-__ Xty kmph
[nﬁaxﬁz

58+ 52 } HpH

[GDE-E

110 ] kmph = 55 kmph

" —_——

i




ok at the sentence ! ¥

He entertained them by narrating |

T . hisadventures in Australia.

;' Hence, the words narrating and

describing are synonymous.

| 52. [4) The meaning of the word Means
! {Noun) as used in the passage is: |
way; an action, an object or a sys- |
tem by which a result is achieved: |:

away of achieving or doing some-
thing.
Look at the mtcmce
Television is an, effective means
of communication.
" Hence, the words means and way
Are SYnomymous.
53. (2} The meaning of the word In-
“tend (Verb) as used in the paa
sage is : to have a plan in mlnd
want. "
Look at the sentence &
f don’t intend staying long.
- Hence, the words intended am;l
B wanted are Synonymous, i
1B4. {3) The meaning of the word Trust;
... worthy (Adjective) as used in the
“- . passage is : that you can rely on
- to be good, honest, sincere etc;
- reliable,
Henee, the words trustworthy
and unreHable are antonymous.
,55. (1) The meaning of the word
";J Pleased (Adjective) as used in
2" Lookat ﬂur_mtanoe :
_ The boss should be pleased with
Of the given alternatives, the
o word Disappointed (Adjective)
- means : upset because something
- you hoped for has not happened;
n - sad; unpleased.
?5 . Look at the sentence :
<= - They were bitterly disappointed at
ix:nthe result of the game.

Lyl

- Hence, the words pleased and

& -iasappointed are antonymous.

ﬁ- (3) When ‘the’ or Possessive Ad-
- jective {your, our or their) comes

;i _hel‘urc ‘number’, the Verb is al-

:: "'-wsSl.ngl.uarbecmmem that case

=", ‘number’ does not express an in-

¢, definite nun.ber.

i" Look at the sentence !

i ‘The number of potential poets born

" varies from age to age.

;- Hence, ‘is less because of should

- be used,

“the passage is : Ieel.'ing happy |

© 57.{3] Here, particular building |

caught fire. Herice, definite arti-
cle 'the' should be used.

Hence, replace ‘residents of build-
ing by 'residents of the building’,

" 58, |4) The subject of the sentence is

inThird Person and Singular Numn-
ber that will take Singular Verb,

Henece, she keeps getting mi-
graines ....... will bg,' :;burrect us-

59. (5] No error .

60. (2] The sentence shows past time.
Henee. repalee "It become almost
impossibie” by ‘it became almost
impossible’ (Simple Past),

61. (4 E 62. (5) F

63.(4) D 64.(1)B

65. (3] C ) '
B6. (1) The t:ﬂn'ect spelling is : ad-
here, :

67. (3) The dgipropriate word should
_be: accessible.

68. (1) The correct spelling is : crisis,

69. (1) The correct spelling is : ama-
teur,

70.12) The appropriate word shﬂuld
be : amaze.

71. (1) impressed

72. (3) reward
73. (5} disappointed '

74.(2) notice 75. {1) thought
76. (4] break T7. (3) realized
78.(2) ashamed  79. (4} awalted
80.(5) managed

B1. (1) 7 = 75638 - 36211 + 12673
= 88311 - 36211 = 52100

8474

82, (5) —.-+°-9&3?

= 42.37 + ? = 90.37
= ? = 90.37 - 42.37 = 48

4.5x 45

83. (2)? = 55, 25!5 162
84. (4) 780 + JB76 +72 =1326

TEO
='26 +?ﬂ=]32;ﬁ

= 30 + P = 1326
= 7= 1326 - 30 = 1296
?= 1296 =36 -
(B 7=78+652+6+41+119
= 895
250x 1400  Px1600
B8G. (2) 100 100
= 3500 - 7 x 16 = 1580

= 1580

=5 ?xl:t‘:i 3500 - 1530-1920

1520
—_— ]
16 120

=&?=

87. (3) 7 =
=93 + 358 = 451
88. (1) ? = J5a5a
= Q'lgxlﬂxlﬁ =19
864 ' 864
62. 8 5x7 =% = 7= 53"
90. (5)? =125 + 6.4 x 3.2
= 12.5 + 20.48 ='32.98

91 (3) 7 = 8963 - 5413 - 2869
=681

‘?45

% x1736 + 358

2 x4 4585
P = —————— =
93, (4) 7 7x5%655 16

e '7 180 . :
.[5]3!.‘= 40 = 108

108
o & S iR
95, (1) ? = (678 -455 + 132) x 0.4
= 355 x 0.4 = 142
96. (3) The pattern of the number se-
ries is 1 8 + 31 = 11

11+52-11+'9-20=_

20 + 3% = 20 + 27 = 47
47 + 3% 2 47 + 81 = 128
128 + 3% = 128 + 243 = 371

87. (3) The pattern of the number se-
ries is :

1+22=1+4=5
51—23:5'1-8:13

13+2%= 13+ 16 =29 [31]

20 + 2% =929 + 32 = §]
61+2%-61+64=125
98. {1} Iftwo equal distances are cov-
ered at two different speeds of x
kmph and y kmph. then

2xy
ﬁverage speed = [ X4y kai:rh

[2><5~Bx52

58+ 52 ] kmph

[GDB‘E

110 ] kmph = 55 kmph

L



’-———' e E==" §7. (%1 Here. particular building |
- {3) Case I :
' 842 L a1700

- PrR*T [24200:-:4:-:6]
S8L=———=Rs. | 150

100 100
= Ra. 5808
. Amount = Principal + Sl
= Rs, (24200 + 5808} = Rs. 30008
Case IT

30005::4:.:4]

'SI-RS.[ 100

= Rs, 4801.28
100. (2] Let the S.P. ol‘ perfume be
Hs, x.
Discount = 25%
s 75% of x = Rs. 5895

- 75
= XK 100 = Rs. 5855

5895 =100

=nc=R5,[ 75 ]zﬁ‘s._TSBU

101, (5) ? = 754 + J4136 %24

754
— 24 =
T 643 8 e

102. (2} Let the CP of 1 digital camera
be Rs. x and that of 1 handy
camera be Rs. y. '
According to the question,
15x + 21y = Rs. 354900
On dividing both sides by 3, we

have

- 354900
Sx+7y=Rs. |73 '
i)
= Rs. 118300

103, (4) Number of days in April and
May = 30 + 31 = 61

-- Requirement of rice for 7 days
= 56 kgs. 5
. Requirement of rice for 61 daﬁ"

(Exﬁl o
- ? I{gﬂ,=mk€5-
1064, (4] The pattern of the number se-
ries is :
56 = 1.5 = B4

84 x 1.5 =
126 x 1.6 = 189
189 = 1.5 = 283.5
108. (5) Boys : Girls = 743 : 842
~ Total number of students
= 31700
- Number of girls

= (743 +842)

%xﬂl?ﬂﬂ-m&m
B letA=x B=x+2
Cex+d4, D=x+6and
E=x+8.
S X+ x+2 4 xvd+x+BHXT
8 =130 _ '
= Bx+ 20 =130
= 5x =130 -20 =110

—— ﬂﬂm

s 5-2231111
E=x+8=22+8=30
s A x B A% 30 = 660,
{1) Let the number be'x.. -
According to the gliestion:
(4052 - 2% x 15-=41340:

= 4032 - »* = ‘al—- 3?5'5

= = 4052 - 3756 = lw
. x= 1356 =98 "
108, (1) Required population

o) (22

107.

109. (2) Let the side ofthe square be

X CIm.
it .

504 }
Sodx=504 =2 x= T=125cm

ﬁr&aofthesquare-x"
= 126 % 126 = 15876 cm?

110, {3) Let Mrs. Sheela’s monthly in-
come be Rs. x.

Here expenditure on education,
household articles and travelling
={18+32+12% of x

62x o flx

100 50

Remaining amount

%

=

=P x 16 = 3500 - 1580 = 1920 §
0x-3Le) o
50 vy

Nowe, ahe spends 45% of remain
ing amount in gambling andj
saves Rs. 9405. i

' 19x

o

55 % 10x
= 100 x50

=9405

9405 x 50 x100 i
=x="gEx g = Rs. 45008
|-

111. (4) Required average P

T-!E+313+1 163+ 45+ 214 + 358 + T3+ lm
B ;

3120
" B

112. () A's | day's work = =

! 1
B's | day's wcrk = e

12
cvotim AL
.“{ﬁ+Blsldaj.rs rARTE
211 31
12 1274 f

- A and B together will complete
the work in 4 days.
113. (1} Speed of the car
Distance covered
= Timetaken

= (52 tomon - 34

R
a1 a-p (1rig;)

sr‘

= 3600 [l + —]
3600 x53x53x53 .
T BO%50%50 -Rs 4287.7
.. Cl = Amount - Principal
= Rs. (4287.7 - 3600
* = Rs, 687.7 = Rs. 688 -

118, (4} Decimal equivalent of each
fraction :
3 2 !
B T



&
i

I L

H y

“Third fraction = B

116. (1) Required percentage

_ 22 100-9%
490

e e
“‘-’f- ?E”%: G

1':'. {2) Required ratio = (120 - 30) :
L (30+30)=90:60=23: 2

E. {5) Number.of businessmen
=45+ 19 = 64 '
1 Required percentage

64
. lﬂﬂzlﬂ‘iﬁ
640

&‘mmw

i30) =280:210=4:3
420. (4) Required percentage

45

P L L1

Ji j [IB[H- 45)

© . 45

= = x 100 = 20%

)

L (4)
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i '\-: +2 T 4
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| J +3
fE] +2
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9..(3) Required ratio = 280 : (léﬂ' + |

A
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(123-128)
No.| Floor . Person
6 | Fifth Floor T
5 | Fourth Floor Q
4 | Third Floor - P
3 Second Floor R
2 | FirstFloor | [.,S
1 Ground Floor | R

123. (3) T lives on the topmost floor.
124. (1) Q lives on, ht floor exactly

bﬂ“"‘*’].m s on which P
and T live.

125, m;ye on swgnd l'lmr nei:

3&!"

12&. {4} Ex at: all m‘.hm—
wnrds oile.

127. (2) Blngra hic:al is different from
theollﬁf s. Except Biograph-

ical, Sll.gmer words signify dou-
ble

128, (5) é-fEHDTH 2 5F

N——3>P——3T —3»R
g2yt p 22,y
s225 0ty 2y

E2yat5 5 =25y

129. (1) R—l—rs——{}g?n
N“—F}G—FMMR
toy=2sst25x
E-—-]—D-F-—?':r[)-'-—s-’—a‘j

jtl g =2 3B oy

(130 - 131):

Evelyn > Bharat > Charu

Danny > Anshu

Now, .

Danmny > Anshu > Earebm > Bhar-
at> Charu

130. [2) Charu paid the minimum

. amount for the comiputer.

131. (5) Bharat bought the computer
for a price less than that paid by
Anshu,

Three persons pald lesser amount
than that paid by Anshu. Every-

ane paid more amount than that

paid by Charu.
Danny paid the maxdmum amount
Rs. 53,000. Bharat paid Rs.
35.000 for the computer and
Charu paid lesser amount than
that paid by Bharat.

(132- lﬂﬁ]

132. (5] F sits exactly between B and
B LR =il ) : I
133. (3} C is to the immediate lefl of

H:, - ' KR )

135. (1) C is third to the left of D.
A is third to the left of F.
F is third o the lefl of C.
138, (4} A sits to the immediate lell of
D. : g
C sits second to the left of A, i
F sits exactly between B and G.
137. {1) G sits third to the right ol D.
138. {2) G and B are immediate neigh- |
boursof F. - .
{139-141):
i All wires are switches — Univer-
sal Affirmative [A-Lype).
(i} Some wars are battles — Partic-
ular Affirmative (I-typel.
{lii} Mo switch is a plug — Universal
Megative [E-lypel.
(iv)] Some switches are not plugs —
Particular Negative (O-type). -

{139-140) : All wires are swilches.

vl

No switch is o pilue.

A+ E= E-type of Cum:lusiqﬁ
"Nowireisa p]ug F)

T_'E




' Mo switch is a plug.

All plugs are chargers.

E + A= O,-type of Conclusion
~Somie chargers are not switch-
es”. (@]

No wire is a plug

All plugs are chargers.

E + A= O type of Conclusion
“Some chargers are not wires™. (R}
139. [2) Conclusion [ does not follow.
Conclusion Q is Conclusion I1.
140. (1) Conclusion | is Converse of
Conclusion P.
On the basis of Conclusion R,
we can say that Conclusion I is
invalid,

141. (1) All lights are wars,

Some wais are battles.
A+ | = No Conclusion

ﬂ.,

Thus, all the fights being battles
is a possibility.
142. 2}5=2T=<A
52D=T<A
RzD=TzE, E5T~D55
S52T=Dc<R
, ‘Conclusions
i 1. R>5:Not True
1. E<A:True o
143. 4 G<H=TzF .
Conclustons
. F<G:NotTrue
1. FzR: Not Trae
144. (11 Rz=2d =M T <V =D
- Conclusions
. D>J:True -
II. R <V : Not True
45 (1] V<S=Lzl>C
i cmd.lm. . o
[ 1. 1>V Trze
Il. C < L: Not True
146. 5)C>A>Bz=F
RzA<C
Conclustons
I. C>R:True
ll F{.ﬁ. True

Fro—

-

(147 - 151) :

snor el ad_ecomeae] —> (2] & GO,
- marke [ind eeoony Jfsued) —> () 57 1 i)
sm voffpest]  —p i (ENED

s —> & DO

147. (3} market =+ la

148, (5) wi=:"accurate or but’

149, (2) issues = zu: only = gy, mi
nor=: bi

150. (5} economy = 'S0’ or ‘mi’

151. (1) no = ru; more = fe;
speed = ka -

152. [3) Fromstetement] ‘

B

E C
Cis sitting to the iumm:liate right
of E.
From statement IT

A

: D
C is sitting to the immediate right
of E.
'153. {1} From statément [
M is the mother of A.
The son of S is only brother of A.
Therefore, A is the daughter S,
- From statement I
Mo answer
1%4. (1) From statement I
i 9.5>T=P >R
From statement I
Q>S>T>FPR
160} :

-

(155 -
RD‘IH-2

L1

155.1;3} C faces P.
186. (1).Q faces B. P is to the imme-

{Left |

: MRight]

L
T

et

diate left of Q. _

. increased competition of

[ Right |

157. (4] 5 laces Ly, - .

158. (5} S sils second Irom the (g
5 sits second to the lefl of Q
R and P are immediai_{-: .
bours of 5.
5 laces [n
C and A are immediate n'
bours of [ ;

159. (3] O is al one of the ey
ends.

.lﬁﬂ {5! S and R are immediate nej
bours of each other. In all o
pairs there is one person beiy
the twao. g

164. {1) Creation of master plan fgr
formation fMow, coordination
tween functional departiments
‘gpecialisl execulives, [ulure
entation for anticipating and
venting markeling pmblr;-mﬁ
solving them. ;

171. (1) Global markel is the d

the entire world or major reg) Gi
- of the world, with globalisa

it causes a rapid increag

diversity in bath the marke!

increased competition.
172, (2} His approach most cla_
resembles gluhal marln:[

considered just as u:um1 1f:
market. :
173. (1) Globalisation means ente
multi national companies |M?
inte home economy. This.

industries with MMNC's. <
174.(3) The wmost difficult ;38
standardise [or global markelifg
is media allocation or adverli_

v ccommunicaling | busingss
_ information to the presenl 0
prospeciive cuslomers. 03
different nations has differenl
cultures, different practices «nd
language so it is difficull i
standardise it. ' 4

| 175. (4} Advertising because differer!

nations has différent cullurg
different practices and langu
age.so it is difficull for GP.
176.(2) If there will be slmiiarlllé
between two culture produ
introduced into one nation frol
other, acceptance is far mof
likely 1o be easy because it W
be easy for the producers’
advertise and promole tha

R

product.




;dmpuﬂ Lan-l] or hmpaﬂ duty | _;' '
is often used mratse revenue lor/

N

a country to protect domestic
products because due Lo import

tariff the cosi of product
184,

increased from the domestic
product and the buyer may
choose to buy the dormestic prod-
uct instead of that 1m|:rc|-rttd
product.

rrs.nl Balance of payments is the
difference between value of
nation's imports and exports. BOP
can be - ve or + ve A +ve BOP is
preferred by ail of economies
which means excess of exporis

: over mports.
179. {1} JCB would have to look po-
. litical and legal forces a

goverhment’s policies toward
public and private enterprise,

consumers and foreign lirms in-

fluence marketing across national
boundaries. The govermument may
cnntrul marketing activities by=
. lmposing Lsnrrlt‘t‘:a'N or taxes on

1mpm1:s

‘2. Setting import quotas or re-
strictions on the number of goods
entering a country.

3. Setting maximum prices on
goods sold within their borders.
m 2} Technological forces also

affeet international marketing
because vast differences exist
between the developed and de-
veloping countries. This is par-
 ticularly applicable in case of
industrial products such as items
of machinery thats why much of
~ technology used in industrialised
~ regions may be ili-suited for
... developing countries.
’151 {3} Standby [or sleep) mode is a
4. mode the computer, monitor or
i other devices enters when re-
4.~ mainsidle for too long. This mode
helps conserve power when a
computer or computer device is
not in use without having to sac-
rifice the time it would take to
i lurn off and on the computer,
2182, (2) A hard disk drive (HDD) Is a

4 non-volatile storage device for

. digital data. That is, it is the com-

puter's main storage media de-

i vice that permanently stores all
Jar . data on the computer.

#83. {1} Alt, Ctrl, and Shift keys are
¢ - modifier keys. Medifier keys tem-
i, - porarily modifies the normal ac-

s -tion of another key when
L. pressed together. They are often
= used with other keys to perform

_d: d

_computer I:cyhuard shortouls.
for examplé, Cirl + C is the short-
el to copy text: Al + F4 in Mi-

- erogsoll Windows will close Lthe
program in the active window.
{4) The 'most common input de-
vives are l:-.-:}'bﬂald and roouse
which helps in IE?ding daia into
the computer.

185, {3] When you save a document

{or file) for the firsl time. you will .

need 1o mention a name [or that
document. To do that go to File »
Save A5 A file name is used 1o
uniguely idenlify a computer lile
stored in a file system.

(4} Operating system is a soft-
ware thal controls the operation
ol a computer, directs the input

188,

and output of data, keeps tgack j -

of files dnd controls the process-
ing of compuler programs. Its
role include managing the func-
tioning of the computer hard-
ware, running the application
programs. serving as an inter-
face between the computer and
the user and allocating comput-
er resources to various func-
{3) The control unit is the compo-
nent of the processor that directs
and co-ordinates most of the op-
erations in the computer. It is the
circuitry that controls the flow of
information through the proces-
sor and co-ordinates the activi-
ties of the other units within it
in a way, It is the “brain within
brain”, as it controls what hap-
pens inside the processor, which
in turn controls the rest of the
PC.
188. (1) In computer. user-friendly
refers.to something which is easy
to learn, understand and deal
with. eg. menu-driven programs
are considered more user-friend-
ly than command driven sys-
tems. Graphical user interfaces
are also considered user friend-
ly. They all make it easier for
novices to use a computer.
(4} In a database, you use data
types to specify the type of data
each field can capture. You can
enter numbers into the number
for numeric) fleld and then aver-
age , sum or perform cther cal-
culations with the numbers eg.
you can assign a Test Score fleld,
a data type of number.
190. (1) A ccmputer network is a group
of mmputﬂrs and other hardware

167.

189

devices ilmi are linked together
mmgﬁmm.munlﬂﬂanf.hanm-lh
to facilitate commu nicalion and
respurce- sharing among a wide
range of users.

191. {1} ViFtual memory velers Lot
space on the hard drive that the
aperating system store data Lo i
you don't have enough random
access memory [RAM) o hokd ali
of the programs vou're currently
Leying Lo run.

192. 13} A bit {short for bmary cligit] is

' ‘the’smallest unii of data in & com
“p'l.ltf:r ‘A'bil has a single bl.ljfux
" ‘valge, eliher O or 1.

193, (4] Aworksheet isan manﬂf;mem

--of rows and columns, maldngup

~¢ells into which various types ol

data and [ormulas can be en-
tered. Formulas are used Lu per-
form caleulalions in Excel.

13} A modem (modulator -dersod-
ulator) is an electronic device that
makes possible the ransmission
of data to or [rom a computer via
telephone or other communication
lines.

195. (3) A gigabyte (GBl is a measure
- of computer data slorage capa-
ity which s equal to 1,024 mega-
bytes {or 2% byies). 1L s approsx-
imately equal to one Billion byles,
(2) A software patch is a piece of
software code that can be apphicd
alter the soltware program has
been installed to fix a specilic is-
sue with thal program. Palches
are avatlable as downloads over
the Internet, free of cosl,

(2) Input allows user to enter or

feed data inio &8 compuier

through input devices such as
kevhoard, mouse, scanner, eic.

198. (2) The internet is a global sys-
tem of inter connected computer
networks that use the standarad
internet protocol suile (TCP/IP)
to serve several billion users
worldwide.

129, {4) ROM [read only memory) is a
computer memory on which data
has been pre recorded. Cnoe
data has been written ontoa ROM
chip. it cannot be removed and can
only be read. It relains the von-
tents even when the computer is
turned of. It contains such pro-
grams that boot the computer.

¥

154.

196.

197

200. (1) A network server is a com-

puter designed o process re-
quests and deliver data 1o olh-
er computers over a local nel-
~work or the Internet. T




